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1.1 Functional Requirement

Reference No. | Function Category
R1.1 SelectMenu Evident
R 2.1 inputMedium Evident
R 3.1 ValidateAccount Hidden
R3.2 inputPassword Evident
R3.3 checkPassword Hidden
R4.1 insertMoney Evident
R 4.2 insertAmount Evident
R43 inputAccount Evident
R44 CalculateBalance Hidden
R 5.1 exeDeposit Hidden
R5.2 exeWithdraw Hidden
R5.3 exeTansfer Hidden
R54 exeCheckTransactionHistory |Hidden
R5.5 exeCheckCriminalHistory Hidden
R6.1 printReceipt Evident




1.2 Interaction Diagram
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1.2 Interaction Diagram
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1.2 Interaction Diagram
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1.2 Interaction Diagram
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1.2 Interaction Diagram
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1.2 Interaction Diagram
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1.2 Interaction Diagram
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1.2 Interaction Diagram
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1.2 Interaction Diagram
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1.2 Interaction Diagram
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1.2 Interaction Diagram
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2. Activity 2050-206¢

2.1 Act. 2051
2.2 Act. 2052
2.3 Act. 2055
2.4 Act. 2061
2.5 Act. 2063



2.1 Activity 2051 - Class

Type class
Name Account
Purpose A=t HEE BO0MFE Sl

Overview(class)

Attribute : accountNum, Bank
Method : Account(), getBank(), getAccountNum(), getBalance(), checkPassword(),
transaction(), getLogs(), getCriminalLogs()E 7tX|12 Q/C}.

CrossReference

UseCase:R21,R3.1,R33,R41,R42,R43 R44, R51,R52, R53, R54,R55

Exceptional Courses of
Events

N/A




2.1 Activity 2051 - Class

Type class

Name AtmSystem

Purpose ATM HEE QOoI== A

Overview(class) Attribute : Bank own, Account src, Account des, amount, fee, banks, transaction

Method : AtmSystem(), tansaction(), checkBalance(), checkPassword(), deposit(),
withdraw(), transfer(), getLogs(), getCriminalLogs(), getTransaction(), setSrv(),
validateSrc(), setDes(), validateDes(), setAmount(), findAccount()

CrossReference UseCase:R1.1,R2.1,R3.1,R32,R33,R41,R42,R43,R44 R51,R52 R53 R
54, R55 R6.1

Exceptional Courses of |N/A
Events




2.1 Activity 2051 - Class

Type class
Name Bank
Purpose Bank MEE BOI== 22|A

Overview(class)

Attribute : name, path
Method : Bank(), fileReader(), validateAccount(), checkPassword(), getBalance(),
transaction(), getLogs(), getCriminalLogs()

CrossReference

Use Case : R3.1,R33,R51,R52, R53, R54, R55

Exceptional Courses of
Events

N/A




2.1 Activity 2051 - Method (class Account)

Type Method

Name Account()

Purpose Account?| ZHx| A4 MSICE,

CrossReference UseCase:R2.1,R3.1,R33,R41,R42,R43,R44 R51,R52, R53,R54 R55
Input(Method) String accountNum, Bank bank

Output(Method) -

Abstract Operation(Method) Account?| ZHHY|E A SICE

Exceptional Courses of Events =

Type Method

Name getBank()

Purpose Account?| &% bank& &HQISICY
CrossReference Use Case R 4.4

Input(Method) -

Output(Method) Bank bank

Abstract Operation(Method) account.bank gtalksict
Exceptional Courses of Events =




2.1 Activity 2051 - Method (class Account)

Type Method

Name getAccountNum

Purpose Account?| AZHHS E EQISICE
CrossReference Use Case

Input(Method) -

Output(Method) String accountNum

Abstract Operation(Method)

account.accountNum< Btalsict,

Exceptional Courses of Events

Type Method

Name getBalance

Purpose AH|xt THH S SIS,
CrossReference Use Case

Input(Method) =

Output(Method) int bank.getBalance(account: this)

Abstract Operation(Method)

bank DBOJ|A| balanceZ £2{2} Ytzt5ICt.

Exceptional Courses of Events




2.1 Activity 2051 - Method (class Account)

Type Method

Name checkPassword()

Purpose H|YRHS It FEoHX| 2kQIstC)

CrossReference Use Case

Input(Method) String pw

Output(Method) boolean bank.checkPassword(account: this, pw)

Abstract Operation(Method)

bankDBO|| A H|LUHHS Ux|0{=2 viatsict

Exceptional Courses of Events

Type Method

Name transaction()

Purpose Hel(US/E3/E53

CrossReference Use Case

Input(Method) int amount, Sting msg

Output(Method) bank.transaction(account: this, amount, msg)

Abstract Operation(Method)

0| AIZtofl A amount@t2 HalstD logofl msgZE X AHsHE

t.

Exceptional Courses of Events




2.1 Activity 2051 - Method (class Account)

Type Method

Name getLogs()

Purpose HefLie g =3|stct.

CrossReference Use Case :

Input(Method) =

Output(Method) ArrayList<String> bank.getLogs(account: this)

Abstract Operation(Method)

e AIEt2| logS hetetct.

—_

Exceptional Courses of Events

Type Method

Name getCriminalLogs()

Purpose HE[O|H S X3[SHCt

CrossReference Use Case

Input(Method) —

Output(Method) ArrayList<String> bank.getCriminalLogs(account: this)

Abstract Operation(Method)

A Zzte| Hz| o=} sl

Exceptional Courses of Events




2.1 Activity 2051 - Method (class ATMSystem)

Type Method

Name AtmSystem()

Purpose AtmSystem2| ZHX|E A MSICt

CrossReference UseCase:R1.1,R21,R3.1,R32,R33,R41,R42,R43, R44, R51,R52 R53,R54 R55 R6.1
Input(Method) Bank own

Output(Method) -

Abstract Operation(Method)

AtmSystem?| ZHx||S A ASICt

Exceptional Courses of Events

Type Method

Name transaction()

Purpose 0|8gh MH|AE HEHGICY,
CrossReference Use Case R 1.1
Input(Method) -

Output(Method) -

Abstract Operation(Method)

button Ql210| tt2} MEHGH MH|A S AISHFICE

Exceptional Courses of Events




2.1 Activity 2051 - Method (class ATMSystem)

Type Method

Name checkBalance()

Purpose Axt 00t EF L I FULCHE2X| eelsict
CrossReference Use Case :R52R.S5.3

Input(Method) =

Output(Method) boolean (amount + fee) < arc.getBalance()

Abstract Operation(Method)

amount + fee2} src.balance£ H|wst B1otE BiatsiC

Exceptional Courses of Events

Type Method

Name checkPassword

Purpose HZYHS E oISttt
CrossReference Use Case

Input(Method) String pw

Output(Method) boolean src.checkPassword(pw);

Abstract Operation(Method)

ol

ok
-

Ol2A5} H|UH S I} srcQ| H|UHE 9} UX|SH=X|

=

2
i}

Exceptional Courses of Events




2.1 Activity 2051 - Method (class ATMSystem)

Type Method

Name deposit()

Purpose srcH|Etof| RISSHCL

CrossReference Use Case R5.1

Input(Method) -

Output(Method) -

Abstract Operation(Method) AIZH2| balanceE amount - feePtE S7tA|7| 12 logd| msglt sHE HeHL 22 YC|O| EFICt
Exceptional Courses of Events | -

Type Method

Name withdraw()

Purpose srcoj| A &35t

CrossReference Use Case R 5.2

Input(Method) -

Output(Method) -

Abstract Operation(Method) AHIZ2| balanceE amount + feePh2 ZtAA|7| 12 log0f| msg2t sHE H2HLH2 2 YC|0| ESICE.
Exceptional Courses of Events =




2.1 Activity 2051 - Method (class ATMSystem)

Type Method

Name transfer()

Purpose srcoj|A desZ £23ICt,
CrossReference Use Case 5.3
Input(Method) -

Output(Method) -

Abstract Operation(Method)

src H|Zt2| balanceE amount + feeftZE ZFAA|7| 22 log0f| msg2t sHEh H2HLH

des A|Et2| balanceE amount 22 S7HA|7| 12 logd| msget i H2HLHES &

&2 Ydlo|Esttt

Glo|E5tct

Exceptional Courses of Events

Type Method

Name getLogs()

Purpose Az H2HLHH S E3|BHC.
CrossReference Use Case 5.4
Input(Method) -

Output(Method) String[][] contents

Abstract Operation(Method)

SN A =ke| HaHLHSH contentsE

FSFSHCE

| Sy gy Y

Exceptional Courses of Events




2.1 Activity 2051 - Method (class ATMSystem)

Type Method

Name getCriminalLogs()
Purpose A= HELHH S X235t
CrossReference Use Case 5.5
Input(Method) =

Output(Method) String[][] contents

Abstract Operation(Method)

SHE AIEF2| HE|LHY contentsE BH2ISICE

Exceptional Courses of Events

Type Method

Name setTransaction()
Purpose 0|88 MHIAE MEHSICE
CrossReference Use Case R 1.1
Input(Method) String transaction
Output(Method) =

Abstract Operation(Method)

String transaction2 22180t AtmSystem?| transactiong AM|EISICE.

Exceptional Courses of Events




2.1 Activity 2051 - Method (class ATMSystem)

Type Method

Name getTransaction()
Purpose &ixH 0|8 AfH|AE ghatsict,
CrossReference Use Case R 1.1
Input(Method) —

Output(Method) String Transaction

Abstract Operation(Method)

3IXY transactiong gtalSHCL

Exceptional Courses of Events

Type Method

Name setSrc()

Purpose 0|82 A=tE Mg st
CrossReference Use Case
Input(Method) String accountNum
Output(Method) -

Abstract Operation(Method)

findaccount(accountNum)2| Z2tZ this.srcof| MEHstCt,

Exceptional Courses of Events




2.1 Activity 2051 - Method (class ATMSystem)

Type Method

Name validateSrc()

Purpose srcAHEe| REM S SelsiTt
CrossReference Use Case

Input(Method) =

Output(Method) boolean src = null

Abstract Operation(Method) srcA|Zte| S5 A0 (2t boolean Z4S gtalsICH
Exceptional Courses of Events =

Type Method

Name setDes

Purpose 53 UiE AIZE MY St

CrossReference Use Case

Input(Method) String accountNum

Output(Method) -

Abstract Operation(Method) findaccount(accountNum)2| Zat= this.desOf| HESHCE,
Exceptional Courses of Events =




2.1 Activity 2051 - Method (class ATMSystem)

Type Method

Name validateDes()

Purpose desH|Zte| KM &QISH}
CrossReference Use Case

Input(Method) =

Output(Method) boolean des = null

Abstract Operation(Method) desH|Zte| S & Mo 2t boolean S BHaFSHCE

Exceptional Courses of Events | -

Type Method

Name setAmount()

Purpose MH|A 0|8 SUS MIEISHC.
CrossReference Use Case

Input(Method) int amount
Output(Method) -

Abstract Operation(Method) this.amount0f| amountg}2 MESHCT.

Exceptional Courses of Events | .-




2.1 Activity 2051 - Method (class ATMSystem)

Type Method

Name findAccount()

Purpose 2+ bank DBO|| account 7} ZX{&H=X| FH=C},

CrossReference Use Case

Input(Method) String AccountNum

Output(Method) Account ret

Abstract Operation(Method) 2t bank DB 0| A accountNumS ZAHSHD =XH5HH retS gtalsict,
Exceptional Courses of Events | {= bank DBO|= ZX}5tX| 2= accountNum2| AL nullE YstsiCt




2.1 Activity 2051

Method (class Bank)

Type Method

Name Bank()

Purpose Banke| 2HX|E A4 MSIC}
CrossReference Use Case
Input(Method) String name
Output(Method) —

Abstract Operation(Method)

Exceptional Courses of Events

Type Method

Name fileReader()

Purpose o2 FE HEE 020
CrossReference Use Case R54,R5.5
Input(Method) String path
Output(Method) AttrayList<String> lines

Abstract Operation(Method)

T2 MEHE logE 2oiet Y

2retsict.

Exceptional Courses of Events

path?} 2Ht2X| &Z2A| Error




2.1 Activity 2051 - Method (class Bank)

Type Method

Name validateAccount()

Purpose HE2F F=8HK| =I5t

CrossReference Use Case

Input(Method) String accountNum

Output(Method) Account ret

Abstract Operation(Method) | bank DBOf| accountNumO| ZXH5t=X| &HQlst EXHSHH s AH|ZHE Yhshstet
Exceptional Courses of bank DBOj| accountNumO| ZXl{st=X| &I5t 1 =XH5tX| Lo ™ nullS gtalksiCt
Events

Type Method

Name checkPassword()

Purpose A=te| H|YHS It LX[SH=X| ZHISHTt.

CrossReference Use Case

Input(Method) Account account, String password

Output(Method) boolean pw.equals(password)

Abstract Operation(Method)

account?| B|ZHS 2} 245t password?t YX|ISH=X| &kQI5t1L booleangta BretsiCt

Exceptional Courses of
Events




2.1 Activity 2051 - Method (class Bank)

Type Method

Name getBalance()
Purpose AHZre| TrHS SIS,
CrossReference Use Case R 5.1,5.3
Input(Method) Account account
Output(Method) int balance

Abstract Operation(Method)

account?| balanceZ HtslsiCt,

—

Exceptional Courses of Events

Type Method

Name transaction()

Purpose Helf MB|AE HEHSHCY.

CrossReference Use CaseR 1.1,R5.1,R52, R53
Input(Method) Account account, int amount, String msg
Output(Method) =

Abstract Operation(Method)

account®] logmtlofl Hal Alzt Halz, > Sae 7123kt

Exceptional Courses of Events




2.1 Activity 2051

Type Method

Name getLogs()

Purpose Hel" g E=sict.

CrossReference Use CaseR 5.4

Input(Method) Account account

Output(Method) ArrayList<String> this.fileReader(path)
Abstract Operation(Method) account?| HeljLhe 2 20t S 21042} Btaksict
Exceptional Courses of Events | -

Type Method

Name getCriminalLogs()

Purpose HefLhg 8 E=sict.

CrossReference Use Case R 5.5

Input(Method) Account account

Output(Method) ArrayList<String> this.fileReader(path)
Abstract Operation(Method) account?| Hz| 0|24 210t S 10|t "taksiCt,
Exceptional Courses of Events | -

Method (class Bank)




2.1 Activity 2051 - Method (class Bank)

Type Method

Name getName()

Purpose 22| 0|55 hlsict.
CrossReference Use Case
Input(Method) =

Output(Method) =

Abstract Operation(Method) Bank2| name& Elratsict
Exceptional Courses of Events | -




2.2 Activity 2052

-ATMSYy
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1
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Name SelectMenu

Type GUI

Responsibilities | 912, £3, 43, X3|, ¥|0|2] H{E F siLtS F2Ct
Cross Reference | R 1.1

Notes o2 232 432 X3| WA 0|2 T3] HE F 5HLI2 L2C}
Post-Condition | Eist HE2| 7502 TIstn AIZHES Yiet 4 UCt
Pre-Condition ATMO| HZI Ar=t0|0{OF SiCL,
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2.2 Activity 2052

‘ ATMSystem |

:Bank

Name

DepositView

Type

seq )

break ) [accountState == Notvalid)
- o emor
ale) |
insertioney()

ring)
heckP: vord(Ag t, Shr
stP:
Ghe!
crpu
D’i) [Checkpw==false] || emor
e i
| s(deposit)
] get )
| o upda
Re Vi
,,,,,,,,,,,,, resut ..

Responsibilities AUS2 LIgtst= SHHOICE,

Cross Reference | R 5.1

Notes U2 THsH= O,
Post-Condition HEte| HUHS E st 4= QUCt
Pre-Condition U3 HES +E HE0[0{0F St




2.2 Activity 2052

‘ ATMSystem |

L
H

:Bank ‘DataBase

seq )

break ) [accountState == Notvalid)
- o emor

Name inputMedium

Type GUI

Responsibilities OH|2| HIEHE Qladst 4 QUCt

Cross Reference | R 2.1

Notes AZE LHL2 Fl FESHA| 22 FF 0l HAXIE &
Sh= StHS 2 Fo{ZITt

Post-Condition Azt Reg 32 =S Y™e = AUCL

Pre-Condition QU2 HES L2 Asl0|0{of St

Name alert “Invalid Account”

Type GUI

Responsibilities AZEP S&5HK| 228 azict,

Cross Reference

R 3.1

Notes AZEPt fE5HK X382 LTIct
Post-Condition S0l HEZ Y5 4 ULt
Pre-Condition Qa5 L2 HxtE Hsict




2.2 Activity 2052

i ‘ GUI ‘ ‘ ATMSystem | :Bank

seq )

break ) [accountState == Notvalid)
- o emor
ale) |
insertioney()

Name inputPassword

Type GUI

Responsibilities AHZe| HYHS E Qladst 4~ QUL

Cross Reference | R 3.2

Notes HIZHS E Y2 F RESHK| F2 B2 o2 HIAXIE
S35tz StH2 2 FoZtct

Post-Condition | HIZH=27t R2d 32 YU=0| Al Tl ZF0| £
Ct.

Pre-Condition | Y28 =g 9J218+2 AH50|0fof Bic

Name alert “wrong password”

Type GUI

Responsibilities H|

Cross Reference | R3.3

Notes HUH STt RE5HX| &S Yt
Post-Condition SO HESZ L5 £t
Pre-Condition O SSHK| &2 H|UHS E AT}t




2.2 Activity 2052
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2.2 Activity 2052

; :. i

:ATMSystem

Name WithdrawView
Type GUI
Responsibilities XIgH

Cross Reference
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R
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log
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Notes E£3S TIdsk= 3HHOICH
Post-Condition Axte| BIEHS E e + AUCt
Pre-Condition Z22 HES L2 AME0|0{0F SiC}
Name inputMedium

Type GUI
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2.3 Activity 2055 -

public class Activate {
public int activate() {
String flag = "";
Scanner scanner = new Scanner(System.in);
while(!flag.equals("N")) {
selectMenu();
System.out.println("Complete selectMenu()");
do {
System.out.println("Continue? (Y/N)");
flag = scanner.nextLine();
Jwhile(!flag.equals("Y") &8& !flag.equals("N"));

if(flag.equals("Y")) m
return 1;
i

}

return 2;

3

public void selectMenu() {

}

public class SelectMenu {
public int selectMenu() {

Scanner scanner = new Scanner({System.in);
System.out.print("Select task progress : ");
int menu = scanner_.nextInt();

switch(menu) {

case 1 :
deposit();
return 1;

case 2:
withdraw()};
return 2;

case 3:
transfer();
return 3;

case 4:
checkTransactionHistory({);
return 4;

case 5:
checkCriminalHistory();
return 5;

default:
System.out._println{"invalid access");
return 6;

Unit Test Code

class ActivateTest {

@Test

void testActivate_ 1() {
Activate Acti = new Activate();
int x = Acti.activate();
assertEquals(l, x);

}

@Test

void testActivate_ 2() {
Activate Acti = new Activate();
int x = Acti.activate();
assertEquals(2, x);

class SelectMenuTest 4

ETest

woild testSelectMenu_ 1 () 4
SelectMenu Sele = new SelectMernud();
int result = Sele_.selectMenudd);
agssertfguals{1, result);

¥

@Test

wodldd testSelectMernu 2 4
SelectMenu Sele = new SelectMernudd ) ;
int result = Sele_selectMenud);
assertEguals(2, result);

¥

ETest

woldd testSelectMenu_ 2> {
SelectMenu Sele = new SelectMernud(d);
int result = Sele.selectMenudd ) ;
assertEguals_{(2, result);

¥

@Test

woid testSelectMernu  Aa{) 4
SelectMenu Sele = new SelectMernud ) ;
int result = Sele_selectMenu);
assertEgual s{(4, result);

@Test

void testSelectMenu 5() {
SelectMenu Sele = new SelectMenu();
int result = Sele.selectMenu();
assertEquals(5, result);

@Test

void testSelectMenu _6() {
SelectMenu Sele = new SelectMenu();
int result = Sele.selectMenu();
assertEquals(6, result);



2.3 Activity 2055 - Unit Test Code

public class FindAccount {
public int findAccount(String accountNum) {
//for (Bank bank : banks) {
Bank bank = new Bank();
Account ret = bank.validateAccount(accounthum);
if (ret != null) {
return 1;

31}

System.out._println("invalid account");
return 2;

public class FindAccount {
public int findAccount(String accountNum) {
//for (Bank bank : banks) {
Bank bank = new Bank();
Account ret = bank.validateAccount(accounthum);
if (ret != null) {
return 1;

31}

System.out._println("invalid account");
return 2;

class FindAccountTest {

@Test

void testFindAccount_1() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount(™"1234"};
assertEquals(1l, result);

¥

@Test

void testFindAccount_2() {
FindAccount Fa = new FindAccount(};
int result = Fa.findAccount("1256");
assertfguals(2, result);

¥

@Test

void testFindAccount_3() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("12566");
assertEquals(2, result);

class FindAccountTest {

@Test

void testFindAccount 1() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("1234");
assertfquals(1l, result);

¥

@Test

void testFindAccount 2() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("1256");
assertfquals(2, result);

¥

@Test

void testFindAccount_32() {
FindAccount Fa = new FindAccount();
int result = Fa.findAccount("12566");
assertbquals(2, result);



2.3 Activity 2055 - Unit Test Code

public class InputAccountMum { class InputAccounthumTest {

public int inputAccount() {

Scanner scanner = new Scanner(System.in);
System.out.print("input AccounthMum: ");
String accountMum = scanner.nextLine();
Account ret = new Account();

ret = findAccount(accountium);

if(ret != null) {
return 1;
telse {
return 2;

h

public class Deposit {
public int deposit() {

Account src = inputMedium(); //src==null 21Z2 exception
if (src == null) { //!
return 1;

}

//Bank bank = src.getBank();

String pw = inputPassword();

if (!pw.equals("1111")) { //!
return 2;

¥

int amount = insertCash();
System.out.println("bank.transaction complete " + amount);
//bank.transaction(src,amount, "deposit"”);

System.out.println("deposit complete");
//this.printReceipt("deposit™, amount,bank.getBalance(src));

return 3; //!

@Test

void testInputhccount_1() {
InputAccountNum IA = new InputAccounthum();
int result = IA.inputAccount();
assertEquals(1l, result);

h

@Test

void testInputhccount_2() {
InputAccountNum IA = new InputAccounthum();
int result = IA.inputAccount();
assertEquals(2, result);

:lass DepositTest {

@Test

wvoid testDeposit_1() {
Deposit D = new Deposit();
int result = D.deposit(};
assertEqguals(1l, result);

¥

@Test

wvoid testDeposit_2() {
Deposit D = new Deposit(};
int result = D.deposit();
assertEqguals(2, result);

¥

@Test

wvoid testDeposit_3() {
Deposit D = new Deposit(};
int result = D.deposit();
assertEqguals(3, result);



2.3 Activity 2055 - Unit Test Code

public int withdray(){ ) @Test
Account src = inputMedium(); void testWithdraw_1() {
if (src == null) { Withdraw W = new Withdraw();
return 1; //! 1 int result = W.withdraw();
assertFguals{1l, result);
//Bank bank = src.getBank(); I
String pw = inputPassword(); @Test
if (!pw.equals("1111")) { void testWithdraw 2() {
return 2; //! 2 Withdraw W = new Withdraw();
i int result = W.withdraw();
assertEgquals(2, result);
int amount = insertAmount(); ¥
//if (!bank.transaction(src,amount * -1,"withdraw")) { @T?St: i
if(!transaction{amount)){ veoid ‘!:es‘ththdr‘aw_B() {
return 3; //1 3 Withdraw W = new Withdraw():;
) * int result = W.withdraw();
assertEgquals(3, result);
¥
hi iR ot e thd . + bank A . void testTransfer_1() {
//this_printReceipt("wi raw" ,amount,bank.getBalance(src)); @Test Transfer T = new Transfer();
void testWithdraw 4 = _ .
System.out.println("Complete withdraw " + amount); wWithdraw W = ;eu(a)withdraw()- int result = T.transfer();
return 4; //! int result — W.withdraw(); > assertEquals(l, result);
H assertEquals(4, result); ¥
¥
@Test
public int transfer() { void testTransfer_2() {
Account src = inputMedium(); Transfer T = new Transfer();
if (src == null) { int result = T.transfer();
) return 1; //1 1 assertEquals(2, result);
//Bank srcBank = src.getBank(); ¥
String pw = inputPassword();
if (lpw.equals("1111")) { @Test
return 2; //12 void testTransfter 3() {
} Transfer T = new Transfer();
Account des = inputAccount(); int result = T.transfer(};
if (des == null) { assertEquals(3, result);
return 3; //13 ¥
}
//Bank desBank = d tBank(); @Test
ank desBank = des.getBank(); void testTransfer_4() {
int amount - insertAmount(); Transfer T = new Transfer();
//if (!srcBank.transaction(src,amount * -1,"transfer to " + des.getAccounthum())) { int result = T.transfer();
if(ltransaction(amount)){ assertEquals(4, result);
return 4; //14 1
}
//desBank.transaction(des, amount,"transfer from " + src.getAccountNum()); @Test
void testTransfer_5() {
//this printReceipt("transfer"”,amount,srcBank.getBalance(src)); Transfer T = new Transfer();
System.out.println("Complete Transfer"); int result = T.transfer();

return 5;



2.3 Activity 2055 - Unit Test Code

public class CheckTransactionHistory {
public int checkTransactionHistory() {
Account src inputMedium()};
if (src == null) {
return 1; //!1

¥

J//Bank bank = src.getBank()};

//bank.showLogs(src);

System.out.println("Complete CheckTransactionHistory");
return 2;//!2

public class CheckCriminalHistory {
public int checkCriminalHistory() {
Account src inputAccount();
if (src null) {
return 1; //!1

¥
J/Bank

S /bank.
System.
return

bank src.getBank(};

showLogs(src);

out.println("Complete CriminalHistory"
2;//12

¥

public Account inputAccount()} {
Scanner scanner new Scanner(System.in);
System.out.print("input Accounthum: ");
String accounthNum scanner.nextLine();
Account ret new Account();
ret findAccount(accountMNum) ;

return ret;

class CheckTransactionHistoryTest {

@Test

void testCheckTransactionHistory 1() {
CheckTransactionHistory CT = new CheckTransactionHistory();
int result = CT.checkTransactionHistory();
assertEquals(1l, result);

}

@Test

void testCheckTransactionHistory 2() {
CheckTransactionHistory CT = new CheckTransactionHistory();
int result = CT.checkTransactionHistory();
assertEquals(2, result);

@Test

void testCheckCriminalHistory 1() {
CheckCriminalHistory CT = new CheckCriminalHistory();
int result = CT.checkCriminalHistory();
assertEquals(1l, result);

h

@Test

void testCheckCriminalHistory 2() m
CheckCriminalHistory CT = new CheckCriminalHistory();
int result = CT.checkCriminalHistory();
assertEquals(2, result);



2.3 Activity 2055 - Unit Test Code

public class _FileReader {

public int _fileReader() {
JfFile file = new File();
System.out.println("File™);
[/ Arraylist<String> lines = new ArraylList<>()};
System.out.println("ArrayvList™);
try {
//FileReader reader = new FileReader(file);
System.out.println("FileReader™);

class FileReaderTest {

@Test

void test_fileReader(} {
_FileReader F = new _FileReader();
int result = F._fileReader();
assertEquals(1l, result);

//BufferedReader bufferedReader = new BufferedReader(reader); }

System.out.println("bufferedReader"});
//String line;

f/while((line = bufferedReader.readlLine()} != null) {

/7 lines.add(line);

/1y

System.out.println("add line");
} catech (Exception e) {

e.printStackTrace();

}

return 1;

public class ValidateAccount {
public Account validateAccount(boolean exist) {
J/String path = this.path + "/" + accounthum;
J/File file = new File(path);
if(exist) {
Account ret = new Account();
return ret;

} else {
return null;

class ValidateAccountTest {

@Test

void testValidatefccount 1(}) {
ValidateAccount va = new ValidateAccount();
assertNotNul L (va.validatefAccount(true});

¥

@Test

void testValidatefccount 2() {
ValidateAccount va = new ValidateAccount();
Account result = va.validateAccount(false);
assertEquals(null, result);



2.3 Activity 2055 - Unit Test Code

wublic class Checkpassword { class CheckpasswordTest {
public boolean checkPassword(String password) {
//String path = this.path + "/" + account.getAccountNum() + "/password.txt"; @Test
//5tring pw = this.fileReader(path).get(0); void testCheckPassword_1() {
String pw = "1111"; Checkpassword cp = new Checkpassword();
return pw.equals(password); boolean result = cp.checkPassword("1234");
} assertEquals(false, result);
t ¥
@Test

void testCheckPassword 2() {
Checkpassword cp = new Checkpassword();
assertTrue(cp.checkPassword("1111"));

class GetBalanceTest {

public class GetBalance {
public int getBalance(int size) {
Jf/Arraylist<String> logs = this.getlogs(account);

@Test
void testGetBalance 1() {

. . _ GetBalance gb = new GetBalance();
if (i:isr;_l?) { int result = gb.getBalance(@);
} g assertEquals(1, result);
f/String lastlog = logs.get(logs.size()-1); b
J//String balance = lastlog.split(";")[3];
f/return Integer.parselnt(balance); @Test
return 2- ! void testGetBalance 2() {
} g GetBalance gb = new GetBalance();

int result = gb.getBalance(3);
assertEquals(2, result);
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public class Transaction { class TransactionTest {
public boolean transaction(int amount) {
//int balance = this.getBalance(account); @Test

if(amount < @) {

void testTransaction 1() {
return false;

Y Transaction t = new Transaction();
//Date cur = new Date(); assertbquals(false, t.transaction(-1008});
//SimpleDateFormat dateFormat = new SimpleDateFormat(“yyyy-MM-dd hh:mm:ss™}; ¥

//String date = dateFormat.format(cur);

//String log = date + ";" + msg + ";" + amount + ";" + (balance + amount) + "\n";

//File logFile = new File(this.path + "/" + account.getAccountNum() + "/log.txt"); @TESt

try 1 ) ) ) ) ) void testTransaction_2() {
//Fl}ewrlteT writer = new FileWriter(logFile,true}; Transaction t = new Transaction{);
Sfwriter . write(log); .
//uriter flush(): assertTrue(t.transaction(1008));
J/writer.close(); ¥
System.out.println("Filewrite™);

} catch (Exception e) {
e.printStackTrace();

¥

return true;

class GetlogsTest {
public int getlogs() {
//String path = this.path + "/" + account.getAccountNum() + "/log.txt"; @Test
System.out.println("path"); void testGetlogs() {
//return this.fileReader(path); Getlogs gl = new Getlogs();
System.out.println("fileReader"); int result = gl.getlogs();

) return 1; assertEquals(l, result);
¥
¥
public class Showlogs { class ShowlLogsTest {
public int showlogs() {
f/for (String log : this.getlogs(account)) { @Test
I System.out.println(log); void testShowlogs() {
s, ] ShowlLogs s1lt = new ShowlLogs();
System.out.println("showlogs"); int result = slt.showlLogs();
return 1; assertEquals(1l, result);
} ¥
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Runs: 2/2 BErrorss 0 B Failuress 0 Runs 6/6 8 Errors 0 8 Failures 0 Runs 3/3 ®©Emors 0 B Failures 0 Runs. 2/2 ®BErorss 0 B Failuress 0
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il testCheckPassword_1() (0.000 )
tEl testCheckPassword_20) (0.000 <)

~ ti] GetBalanceTest [Runner: JUnit 5] (0.011 s)
il testGetBalance 1() (0.005 5)
tEl testGetBalance_2() (0.006 <)



2.4 Activity 2061 - Unit Testing

Runs: 2/2 @ Errors: 0 @ Failures: 0 Runs: 1/1 B Errors: 0 B Failures: 0 Runs 1/1 B Errors: 0 B Failures: 0
| . |
v tid TransactionTest [Runner: JUnit 5] (0.000 ) v fi] GetlogsTest [Runner. JUnit 5] (0.000 s) v i1 ShowLogsTest [Runner: JUnit 5] (0.000 <)

&l testTransaction_10 (0.000 s) el testGetLogs() (0.000 s) ¢l testShowLogs() (0.000 s)

testTransaction_2() (0.000 <)



2.5 Activity 2063 - System Testing

Test Number Test gt= Description System Function Pass/Fail
11 selectMenuTest Deposit2 s S HAEOZ Of|'5MEH | R 1.1 P
O| £|=X| =tQlsiC,

12 selectMenuTest WithdrawS s3Il IAEoZ 05 M |R 1.1 P
0| &| =X =elstCt,

13 selectMenuTest TransferS s3iSM| MAXOZ H&M |R 1.1 P
EHO| E4=X| SHQIBHCY,

14 selectMenuTest CheckTransactionHistory2 =312 |R 1.1 P
HaX O = 0| mMEHO| E[=X| 2tQISITt,

15 selectMenuTest CheckCriminalHistoryS &2 4 |R 1.1 P
O 2 04 MEHO| £|=X| BHol5ict,

16 selectMenuTest =X2|7} | =X]| eQISIT R1.1 P




2.5 Activity 2063 - System Testing

Test Number Test &= Description System Function Pass/Fail

2.1 inputMediumTest OiH|E Yst= SHHOIE S W OfHIE ¥ | R 2.1 P
A2 [ H|CH =2 TIFHE|=X| 2HQISICT

311 validateAccountTest 9,;'3;*8 AHZEHE Qs M2 XIsHsH R 3.1 P
=X| =QISICt

312 validateAccountTest AR AEE QAHMESU) EX2|PtE |R 31 P
ALX| EOI5IC}

32 inputPasswordTest H2HS E Qa5t= SHHO| EHS uf 248t (R 3.2 P
2 H|IYHS E M3 I1IEH§ LA
x| SfQIBICE

33 checkPasswordTest HYHS E Qladst=ststH EHS I &2 (R 3.3 P
E H|IYHS E M3 EEIEI?fEI
U=X| SISt




2.5 Activity 2063 - System Testing

Test Number

Test gt=

Description

System Function

Pass/Fail

41

insertMoneyTest

== Yot JOTF ML= A=l =X

r

R 4.1

P

42

insertAmountTest

Hets| AlME[=X| 2t elstet

R4.2

P

43

inputAccountTest

AEE laists 5iw0| B2 i AE o
25| 1 {7 =] stolstct

R4.3

441

CalculateBalance

1.3 219 e A 2220t BEfs] AN
sict
2. DS EX| Qe Mo elE &

Hlch= FIHEIC

R 4.4

442

CalculateBalance

1.ERH 2to| Helf Al =7} FEls]| ALt
ot
2. TS GX| Z= HoM HeflE 2 ul

H|ch= FIHEIC

R 4.4

443

CalculateBalance

1.8 Zke| A2l Al =29t Fets| ALt
Elch

2. TS Fo| Hef
Ct

fufr

st o @2 xj2|7t &

R 4.4

444

CalculateBalance

1.Ef28 29] Haf A 2220 Fas] A
=

2. ZtD2 ol Hel2 & 1 22x2|7} &
ct,

R4.4




2.5 Activity 2063 - System Testing

Test Number Test &= Description System Function Pass/Fail

511 exeDepositTest 1. 0|5 MEHXIO|A| Deposit=S MEHGHS | R 5.1 P
[ Deposit3tHO| EELII 10|

512 exeDepositTest 2. Deposit 3HHO| £ = 5t2 UHJ-E”E | R5.1 P

oo
2435 03 £ Y= &30 Tk

513 exeDepositTest 3. 2ot H|YHS E ¢2dsH F| Deposit |R 5.1 P

o

r

o

=
S MEHXI0| M WithdrawsS MEHSH | R 5.2 P
EH Withdrawz}Ho0| Ee=X| StQISIC}

521 exeWithdrawTest

™

. Withdraw gtH0| &£ = 9,;5'38 O™|E [R 5.2 P
3l5| £38 £2 Y2 51000 H

CH2 x| sfolsich

522 exeWtihdrawTest

e Mo —

-

523 exeWithdrawTest 3. o2 H|UHS E &St £ Withdra |R 5.2 P
WOI ARE = '—f = Z1rEo|M =0 H




2.5 Activity 2063 - System Testing

Test Number Test &= Description System Function Pass/Fail

531 exeTransferTest 1. |4+ MEHXHO||M TransferS MEHSHS (R 5.3 P
[ TransfersHO0| LL=X| EHQISICT

532 exeTransferTest 2. Transfer t2HO| £ S A2 OX|S |R 5.3 P
QlBHE| g =2 Uaists 1910| X
cng x| stoltct,

533 exeTransferTest 3. Heliet =2 eladstn &2 AIZE @ |R5.3 P
25t 51010| K|CH2 Lox | SHOIBHCE

534 exeTransferTest 4, Aot H|AHS E Q&sh §| Transfer |R 5.3 P
0| %EEI LI2= AobEof|AM =0 Fet
5| & £ 25| =X| Eelsit,

541 exeCheckTransaction 1. i|5+ MEHEFO||AM CheckTransactionH [ R 5.4 P

HistoryTest istory= MEHGHS U CheckTransactio

nHistoryst™o0| cE=X| 2kQI5ICt

5472 exeCheckTransaction 2. CheckTransactionHistory 3tHO0| £ | R 5.4 P

HistoryTest

5 U2 OfH|2 Y5l Hall Lol X
Chz x| sfolstc




2.5 Activity 2063 - System Testing

Test Number Test &= Description System Function Pass/Fail
55 1 exeCheckCriminal 1. 0| MEHXI0| A CheckCriminalHisto |R 5.5 P
HistoryTest ry=S MEHSHZ [f CheckCriminalHistor
ysHO| LE=X| 2tQISHTt,
552 exeCheckCriminal 2. CheckCriminalHistory 3}HO| £ 5 |R5.5 P
HistoryTest U2 A|=E Y-S Helf LHZHO| H|cH
2 LLEX| Stolsthet,
6.1 1 printResultTest 1. 2120| Bt £ LHHO| HICHZ 5HHO| £ (R 6.1 P
2E| %] SfQIBHCE
612 printResultTest 2. £20| BLt £| LHHO| H|CHZ &}HO|| = (R 6.1 P
S| X| SIQI3ICE
613 printResultTest 3. 420| 8Lt £ LHHO| H|CHZ 5}HO| = R 6.1 P

24| = x| stolsic




3.Q&A




